] " ] ! | ¢ I . I 3 ? | 1
AL TN bonaees REV: vl [23 JAN 2012]|DCN#: E1200070
O
> \
|
2 ‘66 |
\/ |
| | |
\
oo/ T
IR | e/l
|
\
+ gey
I_
l n
\ © | o
l
l
o Lo
|
l O
S
S
\
B \ O
D |
2| | Add 3/8-16 SST EQ Stop Nut
& ) ECD | v D1100980 ‘
Cpo | Modified  Ruland TSP-6-16-5S.
| Change screws on clamp to
[ o Ag=plated (C-606-NA).
O \
—/ o
< J | 7
o
20 [ Q
\
l ==
. O | 0
D
o | '
V! | D
. = J [23]1 |[D1100785-472|[1/4 WASHER NITRONIC 60
. | | 0060325 ROTATIONAL ADJUSTER; STATIC HALF ST ST: 304/316
® : ? ? D060328 . 3/8-16 UNC T NUT; BASED ON WIXROYD 2418.WI20 ST STEEL: 304/316
o l O 3 | 060329 TOP STAGE STIFF BACK; . AL ALLOY: 6061
I ‘ l ‘ 4 4 | 0060330 ROTATIONAL ADJUSTER; BASE PLATE ST STEEL: 304/316
l o 5 | 0060331 JACKING SCREW / EARTHOUAKE STOP; . ST STEEL: 304/316
‘ 6 | D060332 WIRE CLAMP: TOP STAGE ST. STEEL: 304/316
. ‘ 2 o 7 5 070140 TOP STAGE BLADE WIRE CLAMP SHIM; . AL ALLOY: 5083 OR SIMILAR]
9 | |D1200116| TOP STAGE BLADES - MARAGING STEEL 250: --------
O ' 10 | D060326-000 BLADE CLAMP; (TOP HALF) ST. STEEL: 304/316
o o I | D060327000 BLADE CLAMP, (BTM HALF) ST STEEL: 304/316
2 [D1100785-375| i 1 me wow. | [NITRONIC 60
o o 2]
o 13 |11 |1185_4EN375 I 17420 x 15D UNC THREAD INSERT; .
O S E E NOT E 5 4|7 IC_2016_NA| 1747 20 UNC K 1° CAP HEAD: . ST STEEL 316, SILVER PLATED
15 |1 D1101960 174" 20 UNC X 2" CAP HEAD, SPHERICAL TIP;
N 16 | 2 C_ZOZO_N 174" 20 UNC X 1.25" CAP HEAD; .
17 | C_2024_|\|A 174-20 UNC X 1.5" CAP HEAD; . ST STEEL 316, SILVER PLATED
|18 5 1185_6EN562 3/8-16 x |.5D UNC THREAD INSERT; .
A D D ‘ T ‘ O N A L NOT E S 19 ? 1185-6EN375 3/8-16 x ID UNC THREAD INSERT; .
o 20 | 2 C_1628_NA| 3/8-16 UNC X 1.75" CAP HEAD; . ST STEEL 316, SILVER PLATED
O - 9 5 5. 1T 1S POSSABLE TO INSTALL A PIVOT N 575 R o
22 ? D1100785_562 3/8 FLAT WASHER,
) ITEM| QTY [SPARE[TOTAL|PART NUMBER DESCRIPTION MATERIALS
) BOLT IN EITHER POSITION. ONLY ONE IS o
o REQUIRED, AND THE CENTRAL POSITION v
W ‘ LL PERFORM BETTER ) ACCESS ‘ S NOTES: (UNLESS OTHERWISE SPECIFIED) CALIFORNIA INSTITUTE OF TECHNOLOGY
LmMASSACHUSETTS INSTITUTE OF TECHNOLOGY
LIMITED HOWEVER I EEggvﬁ‘QM SHARP EDGES, DIMENSIONS ARE IN mm [INCHES] I6R, GLASGOW UNIVERSITY GEO 600 GROUP
. LTS P TOLERANCES RUTHERFORD APPLETON LABORATORIES
o LAt s ] HAo [TWO ] TOP STAGE CARTRIDGES P L e,
= [N N TN TANC T T N 0 T = G 30 0 Y2 S s 4 2 = g&;uis E%?miﬁwﬁﬁ&éé@% o — SU-575TEM SUS
JD_LI\V\H Lu : \\V’A\VII i TH ‘DAPT CHWH J‘ A’%% CIMTECH 410 (STAINLESS STEEL) T NEXT ASSY |D1000549 I
\ Ui 'twni  saS Wi e e BLADE CARTRIDGE
NAME DATE
DRAWN I WILMUT | 5/0CT/06 [5T7E oRG N(; REV
oot o TsmeroB | [D1200120 v3
SCALE 1:2] PROJECTION: =@ 6= [ SHEET | OF |
11 10 1


robert.lane
Typewritten Text
Add 3/8-16 SST EQ Stop Nut
D1100980
Modified Ruland TSP-6-16-SS.
Change screws on clamp to 
Ag-plated (C-606-NA).

robert.lane
Line

robert.lane
Typewritten Text

cconley
Text Box

cconley
Text Box
REV: v1

cconley
Text Box
23 JAN 2012

cconley
Text Box
DCN#: E1200070

cconley
Text Box
D1000549

cconley
Text Box
D1200120

cconley
Text Box
v3

cconley
Text Box
D1200116

laustin
Pencil

laustin
Text Box
C-2016-NA

laustin
Text Box
C-2020-N

laustin
Text Box
C-2024-NA

laustin
Pencil

laustin
Text Box
C-1628-NA

laustin
Text Box
C-1648-NA

laustin
Text Box
D1101960

laustin
Text Box
1185-4EN375

laustin
Text Box
1185-6EN562

laustin
Text Box
1185-6EN375

laustin
Pencil

laustin
Pencil

laustin
Line

laustin
Text Box
D1100785-562

laustin
Text Box
D1100785-472

laustin
Text Box
D1100785-375

laustin
Text Box
1/4 WASHER

laustin
Text Box
1

laustin
Text Box
NITRONIC 60

laustin
Text Box
NITRONIC 60

laustin
Text Box
NITRONIC 60

laustin
Text Box
2

laustin
Text Box
TMS

laustin
Text Box
TWO

laustin
Line

laustin
Line

laustin
Line

laustin
Line

laustin
Callout
23

laustin
Text Box
23




